30. Overtrading
1. Missing words
Growth is a wonderful thing, but overly-rapid growth can be fatal to a business. Almost all business works on the basis that cash _________ comes before cash in. No retailer will pay until they’ve received the goods. And if they’re big like Boots the Chemist, they want 90-105 days interest free ______________. So today you spend your cash making the goods, tomorrow you deliver them and in 105 days Boots pays up; you’re out of pocket for 106 days. So if orders flood in, the strain on your cash flow can become unbearable. That’s overtrading: expanding too ______________ for your capital base. And if you allow your cash flow to turn horribly ___________________ before going to see your bank manager, the bank may be unwilling to help. 

Missing words from: rapidly, credit, negative, out
 2. Cause or effect (of overtrading)? 
2.1 The strain of managing the cash flow can lead to mistakes in ordinary trading.
Cause
 
Effect
2.2 Struggles to supply force the business to spend on extra capacity.
 

Cause
 
Effect
2.3 Rihanna tweets her favourite new trainers – made by your company! 

Cause
 
Effect
2.4 Ever-rising cash outflows keep outstripping the rising cash inflows. 


Cause
 
Effect
3. Tough Calls – Should a manufacturer of trainers accept these deals?
3.1 An order from JD Sports for 40,000 pairs (last year they bought 10,000 in total) ________________________
______________________________________________________________________________________

______________________________________________________________________________________
______________________________________________________________________________________
3.2 An offer by a rival to produce your trainers as a sub-contractor, while current sales are so high. 

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

4. Data Response: Reasons businesses run out of cash (from www.beavismorgan.com – accountants)
‘The business is over trading. That is, the business is growing too fast. Again, if the business is profitable this problem can also be fixed. A fast growing business is a nice problem to have but there will be a limit to which the banks will provide the funding. If you don’t have access to limitless amounts of cash then operating within your sustainable growth rate is crucial. Once you know your sustainable growth rate you can limit your growth to within this range. Often this can be done by increasing profits which provides yet more free cash flow but business owners find it very difficult to consciously slow the growth rate of their business.’
4.1 Explain what might be meant by a ‘sustainable growth rate’.
______________________________________________________________________________________

______________________________________________________________________________________

4.2 Explain one way an owner could slow the growth rate of the business.
______________________________________________________________________________________

______________________________________________________________________________________

4.3 Explain how increasing profits might provide ‘more free cash flow’.
______________________________________________________________________________________

______________________________________________________________________________________

30. ANSWERS: Overtrading
1. external … SWOT … aims … quantitative 

2.1 The strain of managing the cash flow can lead to mistakes in ordinary trading.
Effect
2.2 Struggles to supply force the business to spend on extra capacity.
 

Cause
 
2.3 Rihanna tweets her favourite new trainers – made by your company! 

Cause
 

2.4 Ever-rising cash outflows keep outstripping the rising cash inflows. 


Effect
3.1 An order from JD Sports for 40,000 pairs (last year they bought 10,000 in total) 

· This could be hugely challenging from a cash flow point of view; but as long as the order is profitable, it should be possible to agree with the bank for any short-term cash flow shortfalls to be covered.
3.2 An offer by a rival to produce your trainers as a sub-contractor, while current sales are so high. 

· This sounds like a godsend, as long as the sub-contractor’s price doesn’t suck all of the profit out of the deal. Your sub-contractor will bear the costs and therefore cash outflows, which will help you cope with the crazy short-term situation

4.1 Explain what might be meant by a ‘sustainable growth rate’.

· Growth that’s not so fast as to tip the business over the edge; it’s a growth rate that could be sustained for years to come

4.2 Explain one way an owner could slow the growth rate of the business.

· Simply turning down orders/contracts. That should be done with care, to try to keep sweet the customers likely to return regularly in future

4.3 Explain how increasing profits might provide ‘more free cash flow’.
· Profit is revenue minus costs, which sounds like it should be the same as cash in minus cash out. The difference is largely about timing. If customers pay up promptly, the revenue can operate as cash inflow and thereby provide more ‘free cash flow’.
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